HYDRAULIC PUMPS AND MOTORS FOR
CONSTRUCTION HEAVY EQUIPMENTS, MARINE AND INDUSTRY

, HANDOK HYDRAULIG CO.
FE IR EHEX




PERFORMANCE CURVE FOR SWASH PLATE & BENT AXIS TYPE PISTON PUMPS

(1552 B AR E wAHERMR S )

H3V63/112 H3V140/180 HPV116/145

oo
) ety

Max. Speed (%% 3# ) : 2,500rpm
Suction Pressure ( Iy & 77) : O~1kg/cm?(bar)
Oil Temperature (jh75) : 50°C Oil Viscosity (i k5 &) : 32mm?/s (cSt)

SWASH PLATE TYPE PISTON PUMPS
(FRiE b ER)

BENT AXIS TYPE PISTON PUMPS
(BHXHEER)

H3V PUMP SERIES (63/112/140/180/280) HPV 116/145 PUMP SERIES
(H3V 7 % 41 % ) (HPV 116/145 % %% % )



H3V SERIES, SWASH PLATE TYPE DOUBLE PISTON PUMPS

D

O

s/

(H3V RJ, #5432 & 3\ WEBHER)

@
€
I @
F
H J K
H3V SERIES DOUBLE AXIAL TYPE PISTON PUMPS SPECIFICATIONS
@ (115 50w A B (mm)
MODEL %)\ #3A| B | C |D |E | F |G |H|J |[K|L|M|N|s|P|Q|R|s|T|WEGH
H3V63 | ote0| |89 |68 |190| |138] 76 465 | |ots|228 195 o A 100kg
H3V112 | ¢224 100 | 110 | 234 167| 78 1530 2160| 265 | 220 | @22 126kg
H3V
1408180 140 8 % 160kg
H3v180o DT | @250 112 | 123 | 256 190 180 610 | 104 | 3180| 305 | 245 | @22| @60| 64 18
(KOBELCO TYPE) 5 | 95
H3V180 DTH 93 | 648 295 175kg
H3V280 | #4300 1271140300 | 9 |203| 115|748 | 105 | 2200 374 | 286 | @26| @70|74.5 20 | 320kg
@ SPLINE SPECIFICATIONS (52 %t )
MODEL No. of teeth | Pitch Circle Dia.(mm)| Module | Pressure Angle Standard
D () | CEMBmEL) | B0 | (i m)
H3V63 14 29.633 12/24 30° ANSI B92.1b:1970
H3V112 12 30 25 20°
14 35
b 2 JIS B 1603
H3V140180/180 DTH ——~ G 2.5 20° 11995
HOVIBOKOBELCOTYPE) | 14 42 3.0 20°
H3V280 22 66 3.0 30° DIN5480:1991
c BN
e %3
JE87 %
i i -o[d | o[e
a |\4-d q | 8-e
0 FLANGE MOUNTING FACE FOR SUCTION PORT ‘ FLANGE MOUNTING FACE FOR DELIVERY PORT
'\@%%E)L a b c d “@%E)L a | b |c d e
H3V63 88.9 508 60 | M0 Dots H3V63 M10X15P Dp16
. . 1) .
HaV112 1 [ Havatg | 90812381019 1 3T 1y oo opes
HOVI404180 | 106.4 | 61.9 | @76 | MI6X20PDp24 | [ H3VI404180 | 57.2 | 27.8 | @25 | 37.5 | Mi2Xi7sPDpes
H3V280 | 130.2 | 77.8 | @102 | Miex20pDp24 | | H3V280 | 79.6 | 36.6 | @38 | 98 | Miexpops




H3V/H5V SERIES SWASH PLATE TYPE SINGLE PISTON PUMPS
(H3V/H5V %51 1542 2 i (AHER)

GEAR PUMP
2-HOLE STYLE G

% USABLE CIRCUMSTANCE ( 5. ¥f 5% )
50°C, ISO VG46, -20~90°C

MODEL (%!55) H3V63S | H5V80S |H3V112S H3V140(180)S|H5V200S |H3V280S

Discharge Rate (cc/rev) 63 80 112 [140(180)| 200 280
(HE&E)

Max. Pressure (kg/cm?)

(i% EJ— 77) 350

Max. Speed (%% 3#) (rpm) | 2650 2460 2360 2150 1900 1600

‘ H3V SERIES SINGLE AXIAL PISTON PUMPS SPECIFICATIONS
(H3V F5 4 iR RS ) (mm)

MODEL| A /B |C|D|E|F|G|H|J|K|[L|/M/N|P|Q|R|S|U

H3V63SH5V80S 76 | 98 | 89 |190/195|140|138|210|295|330| 80 | 196|255 | 125 18| #4180
HVISHVIQS| 8 | 78 [ 110|100 (234 220|160 (167 | 249|338 (373 | 92 (229|298 | ¢160| 140 0224

e 93 | 123|112 (256 |245| 182190 | 287|383 |418 | 111 260|343 | 3180 w22 @250
H3V280S | 9 |115[140(127|300|286(249|203|349|349|484 (135|322 |409| @200 @6 | 2300

@ SPLINE SPECIFICATIONS (75 )

MODEL No. of teeth Pitch Circle Dia(mm) Module Pressure Angle
T 5) (A% (CENT R E %) (k) (JEH )
H3V63S/H5V80S 14 29.6 12/24 30°
H3V1125/H5V140S 14 35 2.5 20°
H3V140(180)S/5V200S 17 42.5 25 20°
H3V280S 22 66 3.0 30°

£

(@ 1GE NOUNTIG FACEFOR SUCTION PORT FLANGE MOUNTING FACE FOR DELIVERY PORT
( H&{H}D%ﬂ%iji}k ) (mm) i (tﬂlﬂluﬂ]%zﬁ:ﬁ ) (mm)
MODEL | 2 | b | od | 4MeDp MODEL | a | b | od | 4MeDp

HOV63SHEV80S| 35.7 | 69.9 | @38 | M12X1.75P Dpi8 | |HaVessHsveos| 27.8 | 57.2 | @25 | M10X1.5P Dpi7
HaVioSHevi4s | 50.8 | 88.9 | @64 | M12X1.75P Dp24 |  [Haviiosksvias| 31.8 | 86.7 | @32 | M12X1.75P Dp24
Hoviaos0s 1 '61.9 [106.4| ©76 | Mi6X2.0P Dpo4 | [Feve(sosi ['365 [79.4 | @38 | M16X2.0P Dp2s
H3v280S | 69.9 [120.7| @89 | Mi6X2.0P Dp24 H3v280S | 36.5 | 79.4 | @38 | M16X2.0P Dp24




H3V280.112RS-FI SWASH PLATE TYPE PISTON PUMP

H3V280.112RS-FI #E 4% & S\ NEAHER

PF3/4 PF1/2

*SUCTION PORT /D[LIVERY PORT

s
L.
=

o =
Vai
ﬂ@ -}
80

L

" H3V280.112RS-FI AXIAL PISTON PUMPS SPECIFICATIONS
%) (H3V280.112RS-FI 4kt 5 MM 21 ) (mm)

MODEL| A |B|C|D|E|F|G|H|J|K|L|M|N|[P|Q]|S|U
H3V280.112RS-FI| 9 | 115|140 (128| 302|237 | 240| 173|349 |678.3|849.4/169.1| 269 | 508 | 2200| 226 | @300

@ SPLINE SPECIFICATION (7642 %)
MODEL | No.ofteeth | Pichciedemn) |  Module | Pressure angle

B | (ko | GehmER) | B0 | (EhA) !E&{[\/_VEEE!]
|
Havesn. | o 66 3.0 30° |
|

112RS-FI

5« USABLE CIRCUMSTANCE ( J¥7 fil 7 4 ) Lo S .
50°C, ISO VG46, -20~90°C I
MODEL (%) FRONT | REAR |CHARGE PUMP LR L ]
g;chEI;a)lrge Rate (cc/rev) | 595 | 110 16.8 i .. Lssuc/ror-cear pump
o Frossre (kg/cm) 350 210 d
Max. Speed (7% i) (rpm) 1600 4;6\ W DELIVERY PORT(112CC/rev)
E ©

c i
2 G

a \ 4-d 4-m f DELIVERY PORT(280CC/rev)

78

26.5

‘ MOUNTING FLANGE FACE FOR SUCTION PORT ‘ FLANGE MOUNTING FACE FOR DELIVERY PORT
= ) (

H&(Hﬁlilfﬂ*ﬁ»ﬁtﬁ ) (mm tﬂfﬂiﬂﬂl%;';%i}k ) (mm)
MODEL | 2 | b | ¢ | d MODEL 12 b |d| e |flg|h| m
H3V2_80RS H3V2.80RS M12X1.75P M16X2.0P
119BS-FI 69.9(120.7| 289 | M16X20P Dp24 119BS-FI 66.7/31.8| @32 Dp24 79.4/36.5| 738 Dp24




SPLINE-C

( H3V/H5V DTP %51

SPL

, 1&

INE-B

Tk

nﬂ&
0
ﬁﬂ
s !\‘

A

H3V/HSV DTP SERIES, SWASH PLATE TYPE DOUBLE PISTON PUMPS
12 B TNEAHER)

H3V/H5V DTP SERIES DOUBLE AXIAL TYPE PISTON PUMPS SPECIFICATIONS

% (H3V/H5V DTPR5IB M b 253K 5 5) (mm)
MODEL A B /C|D|E|F|G|H|J|K|L|M|N|S|T|W, WEGHT
HaVB3DTP/HSVBODTP | 180( 140 | 89 | 98 |190| 8 |177| 76 |464| 91 | 125228 | 195 | ¢18| 150 | 213| 103kg
HBV112DTPHEVI40DTP | opo4| 140 | 100 | 110 (234 | 8 |214| 78 |538 | 91 | 160|265 | 220 | 022 | 150 |213| 129kg
HOVI4VE0DTPHEV2UDTP | 2250|140 | 112 | 123|256 | 8 | 257 | 93 | 618 | 104 | 0180|305 | 245 | 022 | 201 | 292 | 334kg
@ SPLINE-A SPECIFICATIONS (7E#% )
MODEL No. of teeth Pitch Circle Dia(mm) Module Pressure Angle
Ol 5) (T80 Bt 2) (B 20 (/&) #4) Standard
H3V63/H5V80 DTP/ . .
s i 10 15.8 16/32 30 ANSI B92.1b:1970
H3V140/180DTPH5V200DTP 13 13 1.0 20° JIS B 1603:1995
@ SPLINE-B SPECIFICATIONS (&5 3 )
MODEL No. of teeth | Pitch Circle Dia(mm) | Module Pressure Angle
o0 5) (%) | Gl ) () (/)7 #) Standard
H3V63 DTP 14 296 12/24 30° ANSI B92.1b:1970
H3V112 DTP 14 35.0 25
H3V140/180 DTP 17 425 25
H5V80 DTP 12 30 25 20° JIS B 1603:1995
H5V140 DTP 17 425 25
H5V200 DTP 17 425 25
@ SPLINE-C SPECIFICATIONS (f£/#£3 )
MODEL No. of teeth | Pitch Circle Dia(mm) Module Pressure Angle
ons) (B0 (A I 42 ) (20 (JE 1 1) Standard
HaV63DTP/H5V80 DTP . .
o0 13 13 1.0 20 JIS B 1603:1995
H3V140/180DTPH5V200DTP 13 19.5 15 20° JIS B 1603:1995
>c  _b._ b
m[ | )
| @iq

FLANGE MOUNTING FACE FOR SUCTION PORT

d|d

8-e

FLANGE MOUNTING FACE FOR DELIVERY PORT

V(IR AR 25 ) (mm) (HH 30 IR 22 5 ) (mm)
'\(A,ED%%L a b c d4-Me-Dp I\(/Igi)D%E)L a b c d e

T 88.9 | 50.8 | 060 Mi2X1.75P Dptg | LSOl 50,8 | 23.8 | 6192221 Mi0X1.5P Dpte
e 1106.4 61.9 | 076 | Misx20P Dp2e | [OMNE 570 | 27.8| 925 42 | Mi2x1.75P Dp2s

SPLINE-A



HSF30/35/35D SWASH PLATE TYPE PISTON PUMPS

35D, &

1

[“H ©.i.-

PF1/2 _E # ':l
. i—d(® ®
hii 1
—-T-— ¢ =4
{i} f\\
—_— ) \lj
= N
H3V SERIES B K
H5V_SERIES C J

HSF30/HSF35 HSF30/HSF35

SUCTION PORT 155 DELIVERY PORT 'A' TPYE

c a a
‘ . 2-¢
K 618
o o «M%Qf.o
5 USABLE CIRCUMSTANCE ( 57 f] £ 455 ) _— .
507C, ISO VG46, -20~90°C SUGTION PORT 155 DELIVERY PORT '8' TPYE
MODEL (%) | HSF30 | HSF35 | AiSFSsh o L
gi;zﬁ:):rge Rate (cc/rev) 30 35 35%> :\_—71:\:/::/ E:[\/\l:\;{:l;\/ 0
?/{;xil:;g%sl)lre (kg/cmz) 320 320 320 \._I_./\ /\._I__/ \%r \"I"\/\ /\:"I"/ é __:%r
Max. Speed (7% ) (rpm) | 2650 | 2360 2650 HaV SERIES HSF35 H3V SERIES HSF3s5D
H5V SERIES HSF30 H5V SERIES _DOUBLE PUMP
‘ HSF30/35/35D AXIAL TYPE PISTON PUMPS SPECIFICATIONS
(FISF30/35/35D AWH kE S HLKs 2 5% ) (mm)
MODEL | A /B |c |D | E | F |G |J | K|L | M
HSF30
HSF35 22 138.6 | 164.6| 90 52 50 180 236 194 154 112
HSF35D
‘ FLANGE MOUNTING FACE FOR SUCTION PORT = FLANGE MOUNTING FACE FOR DELIVERY PORT
(| k25 ) (mm) ( Tl 3% 2 5 ) (mm)
MODEL 1 a | b |c | d MODEL | 2 | b | ¢ | d 6 TYPE
HSF30 HSF30
HSF35 30.2158.7 | 32| M10X1.5P Dp20 HSF35 50.8/23.8|@19| — M10X1.5P Dp20 A
HSF35D | 30 | 65 | @33 | M12X1.75P Dp20 HSF35D | 32 | 70 | @20 35 B




H6V55M/80M/107M/160M BENT AXTS TYPE DISPLACEMENT VARIABLE

160M £ HED ik

SPLINE

J 4—K
- {

()

(&)

H

Al B

PORT—
() I, .
p ! | P
r SOLENOID VALVE 3 ) 1
] C ASS'Y POINT ®)) TeE=E==
AN e

TP = N }
L

a c

x USABLE CIRCUMSTANCE (57 ££ 4 )
50°C, 1SO VG46, -20~90°C

_ FLANGE MOUNTING FACE ‘ )

FOR SUCTIONADELIVERY PORT( i/ Wit #1424 ey D'Swrgy)'ENT ngggﬁ& TRQE RPM m
MDELla | b | ¢ [d|e 09 55) [MAX|MIN | fgr | D) MAXIMIN| i
H6V55M | 508 | 238 | MoxisPDpn | 19 | 75 HeVsaM | % | % N0 | 440 | 7000 | o4
H6V8OM | 572 | 278 |Mi2xi7sPDp0| 25 | 80 HeveoM | & | 5i 47 | 3900 | 6150 | 32
HeV107M| 572 | 278 |mrexizom0| 25 | 80 Hoviod 7 | 0 | | e | a0 | 570 | s
H6V160M| 667 | 318 |Mi4xcopop0| 35 | 152 HeV160M| 160 | 101 874 | 3100 | 4900 | 496

@ SPLINE SPECIFICATION(e e 53x) (@) SPECICATIONS FOR HOVBEMBINAOTNAGON (46 % 51 (mim)

HeVs5M | 14 28 20 30° HEV55M | 225 | 90 | 280 | 65 | 25 | 67 | g30 | 4125 o160 | 235 150
HoveoM | 16 32 20 30° HEVBOM 240 | % | 300 | 72 | 25 | 75 | o35 | o140 160 | ot35| 165
Heviorm| 18 36 20 30" HEV107M)| 255 | 100 | 320 | 83 | 32 | 80 |2B95| o160 | 0| 175/ 190
HevieoM| 21 42 20 30’ HEV160M| 292 | 107 | 360 | 0 | 32 | 92 | oAb | of80 | o4 f75) 210




AXIAL PISTON MOTOR (H6VM55/80

SPLINE

H6VM55/80/107/160 BENT AXIS TYPE DISPLACEMENT VARIABLE

107/160Z 3\ HED iz

PISTON RING TYPE

1 SOLENQID VALVE
h B 7 ASS'Y POINT
AW e
e
(BN

g

,===-==élu===-===‘
L

T/ ey A
77

i

5 USABLE CIRCUMSTANCE (J57 il £f 1% )
50°C, 1SO VG46, -20~90°C

_ FLANGE MOUNTING FACE \ )

FOR SUCTIONADELIVERY PORT( /Wit #4254 e D'SF’(%EMENT ng% RE RPM w
MDEL)a | b | ¢ [d|e C355) TMAX| MIN | fgir) | Do) |MAX|MIN| i
HEVMB5 | 508 | 238 |Mi0x15PDp0 | 19 | 75 HOVMS5 | 5% | % 300 | 4450 | 7000 | 244
HEVMBO | 572 | 278 |Mi2xt7sPDpn| 25 | 80 HeVM8O| & | 51 47 | 3900 | 6150 | 32
HeVM107| 572 | 278 |mi2xt7Poe0| 25 | 80 Howior| 7 | 0 | | e | a0 | 570 | as
H6VM160| 667 | 318 |Mi4xcopop0| 35 | 152 HEVM160| 160 | 1ot 874 | 3100 | 4900 | 496
@ SPLINE SPECIFICATION(e e 53x) (@ SPECFICATIONS FOR HEVSS 80107160 (42 B2 0m)
kol bl e R A BN | C I G CI GIFIESE
HevMs5 | 14 28 20 | HBVIVSS | 20| 90 | 270 | 6 | 25 | 67 | o0 o1 | 18| o135 150
HevMgo| 16 32 20 | HEVIVIBO | 2% | 95 | 290 | 72| 25 | 75 | o5 otd0| o180 | o135 165
HevM107| 18 3 20 | HEVIVIO7| 250 | 100 | 310 | 83 | 32 | 80 |95 ot 20 o175 190
HeVM160| 21 42 20 | HEVIVI60| 267 | 107 /370 | 90 | 32 | 92 | o | ot o224 af75)] 210




H7V055,/80/107/160/250 BENT AXIS TYPE DISPLACEMENT VARIABLE
107/160/250 & o\ HER

NEGATIVE&POSITIVE
CONTROL ADJUST
Vg max to Vg min

(max.40bar)
LOAD LIMITING CONTROL
1 EXTERNAL PILOT PRESS

DELIVERY _a &6

C

SUCTION

FLANGE MOUNTING FACE
£ FOR SUCTION&DELIVERY PORT( i/ M 1 4k 25 ) % USABLE CIRCUMSTANCE (J57 Ji] ¥7 %)

50C, ISO VG46, -20~90°C
MODEL (%!%) H7V055/80/107/160/250
Discharge Rate (cc/rev) 55/80/107/160/250

MODE'—ab C dle | f

@5)
H7V055 | 238 | 508 |Mi2x1.75PDps0| 219 | 77.8 | 42.9
H7V080 |27.857.2 |Mi2x1.75PDpd0| 525 | 839 | 50.8 it
H7VO107 | 28 | 57 |Mi2x175PDps0| g25 | 89 | 51 Smaf Fzressure (kg/cm?) 350

H7VO160 | 31.8| 66.7 | M16x20PDp0 | 932 | 1064( 619 | 675 (% EES )
H7VO250 | 36 | 75 | M15x20PDpa0 |40 | 115 | 73 | 85 Max. Speed (7% 35 ) (rpm) | 3400/3000/2900/2560/2300

&R 3|«

@ SPLINE SPECIFICATION(7e550) (@ SPECFICATIONS FOR HTVOBBBOMOTHE0R50 (11 46 5 1) (mim)
5

I e s Ve [renat| [ [ e [c[o] e[ [a[n] ]
H7vOs5 | 14 28 20 30° H7VOB5 | 345 | 200 | 340 | 70 | 24 [ 170 | 80 | 5125 o160 o135 150
H7VO80 | 16 32 20 30° H7VOB0 | 365 | 205 | 360 | 70 | 24 | 180 | ¢85 | 40| o180 | 135] 165
HVO107| 15 45 20 30° H7VO107 | 385 | 210 | 382 | 736 | 24 | 190 | g80 | o160 | o200 417 | 180
H7VO160| 21 42 20 30° H7VO160| 420 | 220|425 | 75 | 24 | 200 | g46 | of80 | o224 | 417 | 210
H7VO50| 23 46 20 30° H7VO250 | 455 | 230 | 459 | 764 | 24 | 210 | g80 | o200 | o248 417 | 230




HPV116, HPV145 BENT AXIS TYPE AXIAL PISTON PUMPS
(HPV116, HPV145 ZHAHER)

SPLINE

8—H = "
< ,,,i ° 0 o)
y % [ /7 &
A
] | 6
P (0] M
% USABLE CIRCUMSTANCE ( 32 1% )
50°C, ISO VG46, -20~90°C
MODEL (%!%) HPV116 | HPV145
Dlscharge Rate (cc/rev)
(HE) 116 145
Max. Pressure (kg/cm?)
Pd1 () 350
Max. Speed (7 ;i) (rpm) 2000

‘ SPLINE SPECIFICATION (ft5# 2 )

MODEL | No.ofteeth | Pichciedam) | Module | Pressure ange
(W 5) (k) | (EMEER) | B | (JEHA)

HPV116 15 45 30 0°
HPV145

Pd2

‘ SPECIFICATIONS FOR HPV116 & 145 (EX200/EX300-1/2/3, ZAXIS 300/330/350) (#itk& 2 £%)

(mm)
FLANGE MOUNTING FACE FOR DELIVERY & SUCTION PORTS
MODEL (/IR T RLR 22
E5) | A B C D E F G H
HPV116 106.6
89 51 o8 57 | o65 | 025 M12X1.75P TAP DP28
HPV145 114
MODEL REMARK
e : & L i A, # Q i (&)
HPV116 | 1955 | 24 | 725 | 432 | 4160 | 9200.8| 180
217
HPV145 | 208 | 21 | 744 | 4585 | 0184 | ¢220.6/ 200




HBFOOM-K BENT AXIS TYPE AXIAL PISTON MOTOR

HBFOOM-K Z #iz\ HEE D A

SPLINE %3& i
M 2 S gi\@
| N
e/
E/_BDRAINPORT
i © ©
o 5(&%&{%‘3@%@1 fLt u/'.f @ 9
D @ | D ©
— @ —
©
@ SPLINESGEAR SPECIFICATION(7E 5 %)
MODEL |No.of teeth Pilchcircledia(mm} Module | Pressure angle
U ) | (g |CEfEER) | GO | (5 #)
HBFOOM o
Ny 19 | 3161 | 1867 | 20
= FLANGE MOUNTING FACE FOR DELIVERY PORT % USABLE CIRCUMSTANCE ( 52 £ 5% )
(/0 W IR 228 ) mm)  50°C, ISO VG46, -20~90°C
MODEL NORMAL
(0 5) | eohey) | fg/amy | (Nm) L/min
I(-IE?YQ%\;I 90 | 52|57.2(27.8/1174| 20 | 125 M1%);12.575P (E&?SF%PI\IQ) 0 | 350 | 4% | 30 | 315
@ SPECIFICATIONS FOR HBF90M - K type ( #iL ¥ % %) o)
MODEL | A |B |Cc | D|E|F|G|H|I |J|K|L|M|N
(B 5)
HBFOOM
(K-TYPE) 196 | 222 | 916|232 | 48 | 36 | 68 | 15 | 204 | 367 |2504| 84 | 64| 659




HBFIOM-S BENT AXIS TYPE AXIAL PISTON MOTOR

HBF9OM-S Z #h 3\ 1138 5 X

_3- --------- -; \ Y, Q 1
: T l 5
PF3/8 DRAIN PORT N : oy 63/<

(=

PF1/4—19N P \P}ij—le G} {9

[GAUGE PORT-A GAUGE PORT—B

©-

QO

© ¢

P
|
+
|
|

©
0

% USABLE CIRCUMSTANCE ( 3. ¥f 5% )
50°C, ISO VG46, -20~90°C

@ SPLINE&GEAR SPECIFICATION(7:/5: 1) T o

e mooL (ks AR ToRQUE| - o [FIONA
WO T o ot Pl | (55 e | i | ° | Vi
HBFsOM | 10 0 25 25° HBFSOM | 50 30 | 374 | 4000 | 200
SRR 2 | B3 | 6@ | ar Koneh| 9 | 30 | 4% | 300 | 315

ﬂ SPECIFICATIONS FOR HBF90M - S TYPE (# ¥ % %)

(mm)
MODEL | alB|C|D|E|F|G|H|I|J|K|L[M|N|O|P|lQ|R| T
M10
HBFSOM | 565 160 0125 10| 110|442 223) 257|525 182] 724 51 |238(508| 3 15 |19atdg  X15P
DP17
HBFOOM M2
572/ 19.4) 7| 27] 121|852 50| 34{65.8] 216| 90| 52 278{527| 1| 20/ 025 5] X1.75P
(S-TYPE) DP25




RV-716 RADIAL TYPE PISTON PUMP FOR MARINE

5 USABLE CIRCUMSTANCE (i Ji £f 1% )
50°C, 1SO VG46, -20~90°C

MODEL (%) RV716

Discharge Rate (cc/rev)
(BE) 20
Max. Pressure (kg/cm?)
(1% 51 ) 150
Max. Speed (7% %) (rpm) 1800

K

L M
N Og P
TN <
| Lo

Q SPECIFICATIONS FOR RV-716 (4§ £ 1)

(mm)
MODEL | Al c|D|E|F|G|H|I|J|K|L|M/N|O|P|lQ|R| S U
(H5)
RV-716 ECCENTRIC| Mi8X1.25P
aaarNg | 141 8 | 16]wi2 13| 25| 7 | ijomo 3oy m) 7 (258 sagemdam et o M




GPB 66-66-16.3(DHO5W)

GEAR PUMP FOR MAIN PUMP (ix # %

OA L—p14.5 H

(&}

INVOLUTE SPLINE
M2.0-PAZ0"-NT14

1 &"—12N Dj3Liat
DELIVERY PORT

0B

912780

X I

FLANGEMOUNTING FACE FLANGEMOUNTING FACE
FOR SUCTION PORT @ FOR DELVERY PORT
(Wit LR S 5K ) h (WO SE

o o,
’ a 77.8 e 58.7
(] (16]
42.9 30.2

b f
C |Mi4x20PDp g |MX1TPDN0
o © d | o051 @ @ h | 8325
b f
1 i 1
| i
g, =
| A~ B )|
| |
I SR SR |

% USABLE CIRCUMSTANCE ( 5. Ef %5 )
50, ISO VG46, -20~90°C

MODEL (7155) ® ©
Discharge Rate (cc/rev)
(HE&) 66 16.3
Max. Pressure (kg/cm?)
(&5 ) 75
Max. Speed (% 3£ ) (rpm) 1632

@ SPECIFICATIONS FOR GPS 66-66-16.3(DHO5W) (3 # % ()

(mm)

MODEL | A /B |c|D|E|G|H| I |J|K|LIM|N|O
(F5)

GPB 146 | 1145|935 | 20 | 275 | 182 |180.4| 178 | 127 | 1%6.4| 178 | 164 | 558 | 4854

66-66-16.3 D ' ' ' S | 4%,




ARGE AND PILOT

5 USABLE CIRCUMSTANCE ( i Ffl ¥f 1% )
50°C, 1SO VG46, -20~90°C

MODEL (%1 %) H3V63/80 H3V112 H3V140 H3V180
Discharge Rate (cc/rev)
(B ) 12 15
Relief Pressure (kg/cm?)
(&EEN) 50
Max. Speed (%% ;%) (rpm) 3250 2700 2500 2200
M22X1.5P
DELIVERY PORT
/
|
AN OK
S
: Y
|

PF3/4
SUCTION PORT RELIEF VALVE

s Fa = i N 7 ?
— [l I —] [l Il I
L

¥ ] ‘ MMM
el
r H 1
@ SPECIFICATIONS FOR H3V SERIES (##% %) (mm)

MODEL SPLINE
mm) | A B|C|D|E[F|G | H|J| g
H3V63/80 | 100 080 | 066 | 512
508 | 192 | 93 | 728 -

Havit2 | 112 | 5 o148| 0% | o9 | 412
HaV1408180| 138 628 | 162 | 9 | 758 o100 | 017 | 512




GEAR PUMP FOR KOBELCO TYPE

(KOBELCO/ % )

5 USABLE CIRCUMSTANCE ( J5i i R 1% )
50°C, 1SO VG46, -20~90°C

MODEL (%1 %) H3V63/80 H3V112 H3V140 H3V180
Discharge Rate (cc/rev) 12 15
(HF
Relief Pressure (kg/cm?)
(&2 EH) 50
Max. Speed (%% ;%) (rpm) 3250 2700 2500 2200
M22X1.5P

DELIVERY PORT

Y

5

M16X1.25P
RETURN PORT

PF3/4
SUCTION PORT

M i
1

- - 1
i [0
SPLINE

—

el ”
H
@ SPECIFICATIONS FOR H3V SERIES OF KOBELCO TYPE (MM 2H)  (um)
MODEL SPLINE
i) | A| B C|DJE|F|G[H|J | G
HaVe3/80 | 100 080 | 066 | 512
508 | 192 | 93 | 728 -
Havit2 | 112 | 5 o148) 090 | 09 | 512
H3V1408180 | 138 628 | 16.2 | 9 | 758 o100 | 017 | 512




GEAR PUMP FOR CHARGE AND PILOT

(5ISRERR )

% USABLE CIRCUMSTANCE (% H £f5%)
507, ISO VG46, -20~90C

MODEL (%) NV45/50/64 | NV90/111 NV120/137 NV172

Discharge Rate (cc/rev)

(HEE) 12 15
Relief Pressure (kg/cm?

e e sure (kgfom) 50

Max. Speed (%% i%) (rpm) 3250 2700 2500 2200

PF3/4

SUCTION PORT 2
M22X1.5P
DELIVERY PORT

©

—

J

RELIEF VALVE

\ SPLINE
SPLNE
c
E E D
@ SPECIFICATIONS FOR NV SERIES (OLD STYLE-A) (IHfA) (mREEE) o
l\(la:%D%E)LABCDEFGHJKSGPEL%\I)E
NV
SERIES | 0148 933 | 40 | 53 | 19 | 56 | 308 | 139 12081605  Z13




GEAR PUMP FOR HITACHI EXCAVATOR

(HITACHI/BiZt MBWH F )

% USABLE CIRCUMSTANCE (3 ££ %)
50°C, ISO VG46, -20~90C

MODEL (7!5) HPVO50 | HPVO102 | HPVO91ES |HPVO9IEW | HPV116 | HPV145 | A7V0250
Discharge Rate (cc/rev)
(B 1) 16.8
Max. Pressure (kg/cm?)
(1 ) ) 210
Max. Speed (% ;&) (rpm) 3200
DIRECTION (5 [i)) CW(L) | CW(L) | CW(L) | CW(L) | CW(R) | CW(R) | CW(R)

PF1/2
SUCTION PORT

PF3/4
DELIVERY PORT

F H . K

‘ SPECIFICATIONS FOR HPV116/145, HPVO50/102/105/91EW,A7V0250 (¥ *ﬁ%ﬁ)(mm)

MODEL AlBlclEIlFlalHlyl kL SPLINE

(25) (it )
HITACHI
PARTS 11 | 106 [1246| 6.2 (411|476 | 109 | ¢17 | 84 |113.7 Z10




GEAR PUMP FOR HPV125A/B,KVC925 EXCAVATOR

(HPV125A/BKVC925/ {2+ MBI R % )

% USABLE CIRCUMSTANCE (%, H 5% )
507, ISO VG46, -20~90C

MODEL (%1 %5) HPV125A HPV125B KVC925
Discharge Rate (cc/rev)
(i) 16.8
Relief Pressure (kg/cm?
(arin ) e 210
Max. Speed (%% 3#) (rpm) 3200
DIRECTION (75 []) CCW(L)
4-c FLANGEMOUNTING FACE
— d FOR DELIVERY PORT
é : (R B )
T @’ a | 262
% ‘ b 52.4
L@ @ | c | suc
b d @25
4 FLANGEMOUNTING FACE
1! e
‘%' © a | 222
“’I: b | 47.6
© © c | 3BI6UNC
L b d 218
m\ - DELIVERY PORT
@ offe
= o 4 ala
o —|” O O o
g -
IR=0 o @2
e,
a0
= E G \__SUCTION PORT
G F H K
@ SPECIFICATIONS FOR HPV125A/B KVC925 (#i% 2 %) (mm)
MODEL SPLINE
(T2 A B C E F G H J K L GE)
HITACHI
o 11 | 106 |1246| 62 | 411 | 476 | 109 | ¢17 | 84 |1135 Z10




GEAR PUMP FOR HITACHI EXCAVATOR

(HITACHI/BiZE NBEH &)

% USABLE CIRCUMSTANCE (5. F 5% )
50, ISO VG46, -20~90°C

MODEL (7! =) HPVO91DW HPVO91DS
Discharge Rate (cc/rev)
(HE 1) 16.8
Max. Pressure (kg/cm?)
(1% ) ) 210
Max. Speed (%% & ) (rpm) 3200
DIRECTION (/5 1) CW(R)

E
DELIVERY PORT

K L
N
PF3/4
SUCTION PORT
=
SPLINE .
SPLINE
C )
=/
% =/
] q
B e P
@ SPECIFICATIONS FOR HPVO91DS/DW (i # % %) o)
MODEL SPLINE-A
(5) |A[B|C|D|E|F|G|H|J K LIMNIP "
EX100-2
&EX120-2 | @17|1154| 198 | @12 |@184| 157 | 51 | 228 (1067|506 | 54 | 48 [1365] 59 Z10
&EX200-2




GEAR PUMP FOR KOMATSU EXCAVATOR

(KOMATSU//MAZENR AR R )

%USABLE CIRCUMSTANCE (3. ¥£ 1% )
50°C, ISO VG46, -20~90C

MODEL (%1 5) HPV55 HPV35&95 HPV132

Discharge Rate (cc/rev)
(HE ) 17.6 13.2 17.6
Relief Pressure (kg/cm?)
(1% £ ) 50
Max. Speed (% 3% ) (rpm) 3200

M24X1.5P

A DELIVERY PORT

2—-¢11

RELIEF VALVE (&
D
@22
SUCTION PORT
|
= z 3 ] } ' O il
= Y = E
Q 2—M10X1.5P / &J
J
L
SPECIFICATIONS FOR HPV/35/55/95/132
@ (PCs0-35, PC1001120-355, PC2008220-677, PC300-6) (44 £ 5) (mm)
MODEL REMARK
gy |A|B|C|D|E|F|G|H|J|KILIMNPQL
(
(PC100/120-375 052 | 272 o72| 15| | 209|555 | 835
o e [ oar| 153 | 7 [1397] | 263 ot6| 92 0 | 289|489 754| 7
105 064 82
PC3005) 272 209 555 | 835




GEAR PUMP FOR KOMATSU EXCAVATOR

(KOMATSU//MAEZE AR R )

% USABLE CIRCUMSTANCE (% H £ 5%)
50°C, ISO VG46, -20~90C

MODEL (%1 5) HPV71 HPV90
Discharge Rate (cc/rev)
() 23.5
Relief Pressure (kg/cm?)
(& EFN ) >0
Max. Speed (%% ;%) (rpm) 3200

J

2—013
A ]
© vl
I | |
7
7 ﬁ
B
R
7/ - RELIEF[VALVE
M24X1.5P T
DELIVERY PORT F
G /

i 823

SUCTION PORT
ol /
DETALL

. |g~j %%ﬁ ? S\IJI I"Q

2-M10X1.5P / X
K

ol

‘ SPECIFICATIONS FOR HPV71/90 (PC150-3/5, PC200-3/5, PC220-3/5) (¥ #& 2 %)

(mm)

AICIDEL SPLINE
(ﬂ%)ABCDEFGHJKLMO (E5)
HPV71

(PC150-3/5) - |ot2 - Z10

265 | 085 265 785 | 60 1307|1757 | 210 | 142 | 024

HPV90 Y ; ]
(PC200-3/5)




GEAR PUMP FOR KOMATSU EXCAVATOR

(KOMATSU//MfZL HLA e 5% )

% USABLE CIRCUMSTANCE (% H £ 5% )
50°C, ISO VG46, -20~90°C

MODEL (#15) HPV160

Discharge Rate (cc/rev)
(i) 28.6
Relief Pressure (kg/cm?)
(& 5EIEH ) 50
Max. Speed (%% ;%) (rpm) 3200

M24X1.5P

DELIVERY PORT

A
/

M33X1.5P

RELIEF VALVE

% 2—M10X1.5P TAP DP21
_1 0/

A~
susy

I
928 LM~
SUCTION PORT

@ SPECIFICATIONS FOR HPV160 (PC300-3/5, PC400-3/5) (k% £ %)

(mm)

MODEL REMARK
() A/B/ C|D|IE|F|G|H|J|K|L|M|N (& 1F)
HPV160

(PC300-355, | 184 | 160 | 120 | 95 | &7 | 117 | 795 | 53 | 35 | @72 | 94 | ¢16| 7
J400-35)




GEAR PUMP FOR KOMATSU EXCAVATOR

(KOMATSU//MAMZEMB KR R )

% USABLE CIRCUMSTANCE (% £f 5% )
50°C, ISO VG46, -20~90°C

MODEL (%1 5) HPV75
Discharge Rate (cc/rev)
() 16.8
Relief Pressure (kg/cm?)
(& 5EIES ) 50
Max. Speed (%% ;4i) (rpm) 3200

M24X1.5P
DELIVERY PORT

s | ===l
WA H 2 ,M/

@ SPECIFICATIONS FOR HPV75(PCB0-7) ( ## % 5)

M%) |A|B|C|D|E|F|G|H|K|L|MN|lQ|T
oy | 11| | | e 77| 0 | s | 701 |24 a52] 662 m2| 92 | @




@ GEAR PUMP FOR SBS120/140 EXCAVATOR
(ZZ/FELNZINRAERE )

x USABLE CIRCUMSTANCE ()3, H £ 5% )
50°C, ISO VG46, -20~90°C

MODEL (7! =) SBS120 SBS140
Discharge Rate (cc/rev)
(HE ) 20
Max. Pressure (kg/cm?)
(18 ) ) 210
Max. Speed (%% 34 ) (rpm) 3200
DIRECTION (5 [f]) CW(R)

= 1rh—12N

SUCTION PORT

$82.55%9 05

i M 2—16N
J K ; \ DELIVERY PORT

@ SPECIFICATIONS FOR SBS120/140(CAT320C/322C/325C) (k% 1)

(mm)

MRy |A|B|C|E|F|G|H|J| K| M| N|P

CATER

PILLAR 1 110571304 | 532 | ¢19 | 8 6.5 | 223 | 844 | 79 | 1104 | 231




GEAR PUMP FOR MITSUBISHI AND CATERPILLAR

EXCAVATOR(=Z /K 45Ht #01Z tH B R )

5 USABLE CIRCUMSTANCE (7 ] Bf 4% )
50C, ISO VG46, -20~90°C

MODEL (7!55) SPK10-10 AP12 K3V63(CAT)
Discharge Rate (cc/rev) 11
()
Max. Pressure (kg/cm?)
(& ) 210
Max. Speed (%% 34 ) (rpm) 3200
DIRECTION (75 [f1) CW(R)

G AN

250.8%%;

”“
—

s o
PF3/4 PF3/8
SUCTION PORT DELIVERY PORT
1

SPECIFICATIONS FOR SPK10-10/AP12 SERIES MITSUBISHI AND CATERPILLAR
@ (E180/E200B/E320B/E315/K3VE3(CAT)) (3l i 2 1)

MODEL

(mm)

(=) B C E G H | J K L M
SPK10-10
% AP12 100 101 8 915 18 6.4 | 334 | 64 91.4 89




GEAR PUMP FOR KOBELCO EXCAVATOR

(KOBELCO/ t % % )

% USABLE CIRCUMSTANCE (57 ] £ 454 )
50°C, ISO VG46, -20~90°C

MODEL (%!%5) K3V63/NV64 |K3V112/NV90/111 K3V140/180/NV137/172

Discharge Rate (cc/rev)

(HE ) 12 15
Max. Pressure (kg/cm?)

(&N ) 50
Max. Speed (%% 34 ) (rpm) 3250 2700 2500

DIRECTION (5 [4]) CW(R)

SPLINE

850805

]
O /[ =7 )
PF3/4 PF3/B
SUCTION PORT DELIVERY PORT
1

B G
E J

‘ SPECIFICATIONS FOR K3V/K3VBDT/NV SERIES

(K904/905/907/909, SK100/120/150/200/220/240/300/400) ( #1 ¥ % %) (mm)
'\?%%E)L Al B | C|D|E | F | G| H]| J | SPLNE
K3V

NVSERES | 8 | 100 | 101 | 135 | 383 | 64 | 334 | 64 | 914 712




GEAR PUMP FOR REXROTH A8VO SERIES

CHARGE AND PILOT (5|5 Hia% %

% USABLE CIRCUMSTANCE (% H £f5%)
507, ISO VG46, -20~90C

MODEL (%!%5) A8VO55 A8V0O80 A8VO107 A8V0O160

Discharge Rate (cc/rev)
(B =) 8 12 16.6

Max. Pressure (kg/cm?)
(&N ) 210

Max. Speed (%% 3 ) (rpm) 2500

DIRECTION (5 [i1]) CCW(L)

#20 DP1.8
CELIVERY PORT

N
| (© )
| BT 6 o
- = SF}LINE
‘W‘ ; — i f‘“‘ AR 8
SING d
—‘l— COUPLING =

DETAIL-A

@ SPECIFICATIONS FOR A8V080&0107(CAT300/300LC) (4 % )

(mm)
MODEL SPLINE
(g |A|B|[C|D|E|F|GH[I|KILIMNIOIP Q| (i

A8VO80 | 355|313/453|592| @62 76.3/1017| 21 |48.5] 915 57 |1185] 44| 88| - |095 13

A8VO107 |352|44.3|575| 63 |@72|88.2[100| 22 |50.5 1043 | 618|153 |44.8/89.6/1023|¢ 9.2 210




GEAR PUMP FOR UCHIDA A8V SERIES

CHARGE AND PILOT (5|5 Rid% &

% USABLE CIRCUMSTANCE (% £f 5% )
50°C, ISO VG46, -20~90C

MODEL (%!%5) A8V55/59/80/86/107/115 A8V172

Discharge Rate (cc/rev)
(HE&) 12 16.6

Max. Pressure (kg/cm?)
(1% %/5H) 210

Max. Speed (%% ;& ) (rpm) 2500
DIRECTION (5 i) CCW(L)

622 DP1.8
$15 DP1.8
SUCTION PORT DELIVERY PORT

NS I N
naily,

M-3;

@ SPECIFICATIONS FOR A8V55/59/80/86/107/115 (## % 1)

(mm)
MODEL SPLINE
(ig) |A|B|CID|E|F|H| I |J | KILIMN S

A8V SERIES | 15.7 | 51.2| 55 | 75 | 25 | 25 |219]69.7| 104|869 67.1| 48 | ¢ 11 Z10




LOAD SENSING VALVE (H3V SERIES) @

@ SPECIFICATIONS FOR LOAD SENSING VALVE (H3V SERIES) (11 £ 1)

B H
L™ > 1
SN - g
2-PF 1/4 .‘ 4_¢5.6/ J &

(mm)

MODEL
(5)

A

B

C

D

E

F

G

H| J

K| M|S

T

REMARK
(& iE)

H3V SERIES

59

61.5

25

151

178.1

36.6

38

579 | 41

659|123 | 18

28




(E.P.R ] 5 %) E.P.R VALVE SERIES
(& # /5 ) PROPORTIONAL VALVES

A-TYPE B-TYPE C-TYPE

N
o

w
(3]

w
o

-
[9)]

HE
OUT PRESSURE  kg/em
8 &

-
o

]
X

o o,

100 200 300 400 500 600 700 800
INPUT CURRENT mA

PERFORMANCE (TEST) REPORT
(P RE Q0 e ) i 5 0 — B A AL T

It ia different on the shape between
B—1 SERIES and B—2 SERIES of E.P.R valve
F1/4 \

@

RS
” ® VYo
M A |

. ey | s
gk 06@ — = . ="

A

-
i ) 3 P &
@E{ B G, & Q-)J 2 @ ! @p|
HI& T‘Z ria] 2 | I Ul ‘”C%i b
B- TYPE C-TYPE
(B F:31) (C %)



RELIEF VALVE SERIES

(/5% [ {6 % 5))

i £ 30
2
24
— =
f D S 18
wn
&’ 12
a4
o6
Z p
= o
g
D Bz 0 10 20 30 40 50
FLOW (/min

PERFORMANCE (Pmin-Q)
(PERR) e/ 1 7 - it

M20X1.0P

ADJUST SCREW

il

|

i
i

_’

2
- UCHIDA SERIES
(N H % 5)
ADJUST SCREW M22X1.5P
= — |
V \\N B El §
) s ©
7] —1
KAWASAKI SERIES
Ol & % 31)
- ol o
- =y

KOMATSU SERIES
NSRBI






